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Graph each equation.

1..\‘—2=(x—3) 2.y —2=2(x — 3) y-2= %
Ly+5==@x-2 S.y+1=3%(x+4) 6.y —1=
Ty+3==20x-1) 8y—d=(x->5) 9.y =2=3(x+2)

Write an equation in point-slope form for the line through the given point with the
given slope.

10. (3. ""4):”1 =6 11. (4, 2);)}1 = —:—55'- 12. (0’2):”1 = -g-
13. (=2.=7);m = —3 14. (4,0);m = 1 15. (5. -8);m = -3
16. (—=5,2);m = 0 17. (1, -8);m = -1 18. (=6, 1):m = %

A line passes through the given points. Write an equation for the line in point-
slope form. Then rewrite the equation in slope-intercept form.

19. (=1.0), (1,2) 20. (3,5),(0,0) 21. (4,-2),(9, -8)
22, (6. —4).(—3,5) 23. (—1,-5),(=7,-6) 24. (-3,-4),(3,-2)
25.(2,7).(1, —4) 26. (=2,6).(5.1) 27. (3.-8),(-2.5)
2. (1.1).3.2) 29. (3.2).(-3.4) 30. (0.2,1.1), (7.3)
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Write an equation of each line in point-slope form.

P =2 0] |* \

36, 7

Write one equation 0
one in standard form using integers.

39.
42.
45.
48.
51.
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about 2.5 miles.

In 1960, the

submersible Trieste

descended

toa

record depth of

6.8 miles.
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ironment Worldwide carbon monoxide emissions are decreasinga

56.

57.

58.
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point-slope form ang

f the line through the given points in

41. (0,0),(-1,-2)
44. (2,3),(~1,5)
47. (-7,1),(5,-1)
50. (5,3),(4,5)
53. (6,2),(1,-1)

40. (6,-3),(=2,=3)
43. (~6,6),(3,3)

4. (2,2),(-1,7)

19. (2,4), (=3, —6)
52. (=2,4), (0, =5)

(1,4),(-1,1)
(0,2), (—4,2)
(5,-3),(3.4)
(-8,4),(—4,—2)
(0,1),(=3,0)

At the surface of the ocean, pressure is 1 atmospher
1, the pressure is 3 atmospheres. The relationship of pr

Science e. At 66 ft below
sea leve essure and dept

is linear.

a. Write an equation for the data.

b. Predict the pressure at 100 ft below sea level.
pout

§ were

million metric tons each year. In 1991, carbon monoxide emission

million metric tons. Use a linear equation to model the relationshi

carbon monoxide emissions and time. Let x = 91 correspond to 1991.
oint

a. Open-Ended Write an equation i .
. quation in point- ins the P
; ;—4, —6). Explain your steps, poink-slope fsf gt oSN
- How many equations could you write in part(a)? Explain.
f

Critical Thinking How woul .
o) d the graph of y — 12 = 8(x — 2) change i
the subtraction signs were changed topaddi g;on Slizn—S—?S(x 2) chang

Reasoning Isy — 5 =
9 Isy - 5 =2(x - 1) an equation of a line through (4. 11
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59. Open-Ended Write an equation in each of the following forms.
a. slope-intercept form
b. standard form N
¢. point-slope form | i

@ 60. Science Use the scatter plot. Effect of Air Temperature |
a. Write an equation to model the data. on Speed of Sound [
b. What is the speed of sound at 15°C? ¢ 3
¢. Predict the speed of sound at 60°C. = 350 i !
o Challenge Write an equation in slope-intercept form < 340 3
of each line described below. g |
v 330 |

61. The line contains the point (=3, —5) and has
. 0 10 20 30 40
the same slopeasy + 2 = 7(x + 3). Temperature (°C)

62. The line contains the point (1,3) and has the
same y-interceptasy — 5 = 2(x —1).

63. The line contains the point (2, —2) and has the same x-intercept as
y+9=3x—4).

64. The table shows data that you can model using I y ‘
a linear function. 4 | 14 ; E a
a. Find the value of y when x = 6. RIS y
b. Find the value of y when x = 120. TR R
¢. Find the value of x wheny = 11. T

d. Find the value of x when y = 50. 1
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